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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

Choose the correct answer of the following :
(any ten) 1x10=10

e Resrnrs »[l 9% el IR Sfeal ¢
(Riewrea w2b19)
(@) A contract with minor is an example of
TR ICe i (AR [H G5 Triggel
(i) valid contract
@4 e
(i) void contract

qifea pfe

Contd.



(b)

(c)
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(ii)) voidable contract .
ey pie
(iv) illegal contract
Y pfe
In which state of India, the Sale of
Goods Act, 1930 is not applied

SIS (FiF U Jiegs AN [Pl =iz, 1930
AT F9 727

() Assam
oy
(i) Sikkim
fefeew
(i) Jammu and Kashmir
Y W P
(iv) Goa, Daman, and Diy
G, vl e e
The Limited Liability Partnership Act
came into force on:

i’cﬁfﬁmwﬁm@@ﬁﬂ (I ©IRT #i1 Tore

() 31st March, 2008
9y ‘51]‘6, 00t

(i) 31st March, 2009
©% B, K006

2




(@)

(e)

(iii) 1st April, 2009
s Gf$F, 005
(iv) 31st July, 2009
9o %f-]‘ii, Q00%
The Indian Partnership Act came into
force on: '

SRl SAWE) W2 @I SifFT Al TR
[k
(i) 1lst October, 1932
y TCIRE, S5O
(i) 31st October, 1932
©3 B, S5O
(iii) 1st November, 1932
S WIS, S99
(iv) 1st December, 1932
s fom=R, 559
The Right to Information Act, 2005
came into force on:
SR SR SR, 200¢ (P ST 71 R
' —
(i) 12th March, 2005
3 TG, K00¢

(i) 12th July, 2005

3R GEIR, R00¢
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(1) 12th October, 2005
5 SIIRT, 00¢
(iv) 12th November, 2005
5% FEHT, 00¢
() Not all agreements are contracts,
I IS B w2 |
(i) Correct (3%)
(i) Incorrect (Tu%)

(g) Offer is defined u/s 2 (a) of the Contact
Act, 1872.

ST R W, 33T 2 () TPt Sewifirs
= Rl

(i) Correct (¥7)
(i) Incorrect (91%%)
(h) The Principal Debtor is the person who

gives a guarantee in a guarantee
contract.

Gifew piere Sifte Rl T Q“ﬂ & Aa2ey |
(i) Correct (¥%)
(ii) Incorrect (TI¥%)

() There are two parties in a bill of
exchange.

Rt Ko WOt o1 A |
(i) Correct (¥%)
(ii) Incorrect (IT%)
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0)

The Chief Information Commissioner
under the Right to Information Act is
appointed by the President of India.

2 SRR S SIS T O RS ©IFeT
Jgsifer e M|

(i) Correct (¥%)
(i) Incorrect (SI¥7)

9. Answer of the following questions : 2x5=10
ERIRS eMERT Tey ol 8

(@)

(b)

(c)

(d)

(e)

What is void agreement ?

ifee INT® FF QA ?

What is Contract of Indemnity ?
%5[99s pfE e & 2

What is unpaid seller ?

weg ool P ?

Write any two differences between sale
and agreement to sell.

R O [ s oS R 761 ALy
foral|

State different types of negotiable
instrument.

THIGIEAI Yeed RieH PR S < |
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3. Answer any four of the following questions :

5x4=20

eFRe euERe s R 51 S6iT Tes B e

(@)

(b)

(c)

(@)

(e)

Write the essentials of a valid
acceptance.

@ FiPoT TGRS SAMRR el |

Distinguish between Conditions and
Warranties.

IR0 SEZ W= (3Nl GO Ners 2412y Byt |

Mention the penalties that can be
imposed on a Public Information Officer
for failing to provide information.

I TS O @9 4R @RI et © ey
RET eoR© FEERET SR [y 27|

State the liabilities of partners under
the Limited Liability Partnership Act.

AE® @ FETMS! SNevs SIfHe SImRT
MHIER T 90|

Explain the procedures of registration
of partnership firm.

SRAMIST AfSDINT AGTTTT FILAATIRR Drt
[ |

Distinguish between bills of exchange
and promissory note.

Rt Rt i 2l siem Siore st B |
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4. Answer any four of the following questions

in 600 words each : 10x4=40
frsfiRe @RS i R sifeeT Ues fori e
(2ifSTH1 Yoo *F foes®)

(@) What is quasi contract ? Describe the
rules relating to quasi contracts.
2+8=10

el 5 P @ICET 2 I i TP Rt
Zefet 41 |

(b) Discuss'the rights and duties of bailor.

RN RN o TSI [ SN
401 . _

() What is Contract of Sales ? State the
essentials of a Contact of Sale.

2+8=10
RER e R 2 R pfers Trore e Rz
T F|
(d) () Distinguish between holder and
holder-in-due course. 5+5=10
%:T e FARRe T TEs AL
|

(i) Distinguish between bill of
exchange and cheque.

R 2[g % LHITPE e #i14=y ot
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- (e) Define partnership. Explain the
different types of partners. 2+8=10

w@mﬁwmw%mmﬁmﬁrwm
(T =0

() State the features of limited liability
partnership. Distinguish between
limited liability partnership and
company. 5+5=10
S ol SRt WS @i B
RS Gt SR W =i e =112
(&l | :

(9) What does Right to Information

mean ? State the process of obtaining
‘information under RTI. 2+8=10

@mwﬁaﬁ{ﬁmﬁsw ? O ST SN2
IS O SRSt 1y “TafSeo! T 1 |

(h) Explain different fo
of partnership firm,
SIS 2SI G2y SRR
T = |

r'ms of dissolution

o ez
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